



# A New Class of Univalent Function Defined by Fractional Differential Operator

**Abdullah Najm Mohammed<sup>a</sup> and Najah Ali Jiben Al- Ziadi<sup>b</sup>**

<sup>a</sup> Department of Mathematics, College of Education, University of Al-Qadisiyah, Iraq. Email: abdullah.najm.mohammad@gmail.com

<sup>b</sup> Department of Mathematics, College of Education, University of Al-Qadisiyah, Iraq. Email: najah.ali@qu.edu.iq

## ARTICLE INFO

### Article history:

Received: 15/07/2025

Revised form: 13/08/2025

Accepted: 18/08/2025

Available online: 30/09/2025

### Keywords:

Holomorphic function,  
fractional differential operator,  
univalent function,  
coefficient estimate,  
growth and distortion theorems,  
convolution property and partial  
sums.

## ABSTRACT

In this paper, we introduce a novel class  $\mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  of univalent functions in the open unit disk  $\mathbb{U} = \{s: s \in \mathbb{C}, |s| < 1\}$  by using fractional differential operator  $D_\mu^{m,\zeta} k(s)$ . We obtain coefficient estimates, growth and distortion theorems, closure theorems, radius of starlikeness, close-to-convex and convexity, neighborhood property and partial sums for the class  $\mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ . Several results involving the convolution property of functions belonging to the class  $\mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  are also derived.

### MSC..

<https://doi.org/10.29304/jqcm.2025.17.32569>

## 1. Introduction

Let  $\mathcal{A}$  represent the class of functions of the following type:

$$k(s) = s + \sum_{n=2}^{\infty} d_n s^n, \quad (1.1)$$

which in the open unit disc  $\mathbb{U} = \{s: s \in \mathbb{C}, |s| < 1\}$  are holomorphic and univalent.

Let  $\mathcal{M}$  represent the subclass of  $\mathcal{A}$  consisting of functions of the following type:

\*Corresponding author Najah Ali Jiben Al- Ziadi

Email addresses: [najah.ali@qu.edu.iq](mailto:najah.ali@qu.edu.iq)

Communicated by 'sub editor'

$$k(s) = s - \sum_{n=2}^{\infty} d_n s^n \quad (d_n \geq 0). \quad (1.2)$$

For  $k(s) \in \mathcal{M}$  given by (1.2) and  $g(s)$  given by

$$g(s) = s - \sum_{n=2}^{\infty} b_n s^n \quad (b_n \geq 0, n \in \mathbb{N}, s \in \mathbb{U}) \quad (1.3)$$

The Hadamard product (or Convolution), indicated by  $(k * g)$ , is specified based on

$$(k * g)(s) = s - \sum_{n=2}^{\infty} d_n b_n s^n = (g * k)(s) \quad (s \in \mathbb{U}). \quad (1.4)$$

In domain  $\mathbb{U}$ , if  $k(\mathbb{U})$  is a starlike domain with regard to origin and  $k : \mathbb{U} \rightarrow \mathbb{C}$  is univalent, we say that  $k(s)$  is starlike. In such case,  $k(s) \in \mathcal{A}$  is considered starlike of order  $\rho$  if it fulfills

$$Re\left(\frac{sk'(s)}{k(s)}\right) > \rho$$

for some  $\rho$  ( $0 \leq \rho < 1$ ) and for each  $s \in \mathbb{U}$ . The univalent function  $k(s) \in \mathcal{A}$  is told to be convex of order  $\rho$  if and only if  $sk'(s)$  is starlike of order  $\rho$ . In other words, if

$$Re\left(1 + \frac{sk''(s)}{k'(s)}\right) > \rho$$

for some  $\rho$  ( $0 \leq \rho < 1$ ) and for each  $s \in \mathbb{U}$ . Also, a univalent function  $k(s) \in \mathcal{A}$  is told to be close-to-convex of order  $\rho$  if

$$Re(k'(s)) > \rho$$

for some  $\rho$  ( $0 \leq \rho < 1$ ) and for each  $s \in \mathbb{U}$ .

For holomorphic functions  $k$  defined in a simply connected domain containing zero, the fractional derivative of order  $\zeta$  is defined as follows [6]:

$$D_S^\zeta k(s) = \frac{1}{\Gamma(1-\zeta)} \int_0^s \frac{k(t)}{(s-t)^\zeta} dt, \quad 0 \leq \zeta < 1, \quad (1.5)$$

$$\begin{aligned} \Omega^\zeta k(s) &= \Gamma(2-\zeta) s^\zeta D_S^\zeta k(s) \\ &= s + \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(2-\zeta)}{\Gamma(n+1-\zeta)} d_n s^n, \end{aligned} \quad (1.6)$$

where multiplicity of  $(s-t)^{-\zeta}$  is removed based on requiring  $\log(s-t)$ , to be real when  $s-t > 0$  (see also [6], [7]).

Mowafy *et al.* [5] introduced the following operator in 2023, which can also be called fractional differential operator  $D_\mu^{m,\zeta} k(s) : \mathcal{A} \rightarrow \mathcal{A}$  defined by

$$D_\mu^{0,0} k(s) = k(s),$$

$$D_\mu^{1,\zeta} k(s) = (1-\mu) \Omega^\zeta k(s) + \mu s \left( \Omega^\zeta k(s) \right)' = D_\mu^\zeta k(s), \quad \mu \geq 0, 0 \leq \zeta < 1,$$

$$D_{\mu}^{2,\zeta} k(s) = D_{\mu}^{\zeta} (D_{\mu}^{\zeta} k(s)),$$

$$D_{\mu}^{m,\zeta} k(s) = D_{\mu}^{\zeta} (D_{\mu}^{m-1,\zeta} k(s)), \quad m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}.$$

If  $k$  is given by (1.1) then

$$D_{\mu}^{m,\zeta} k(s) = s + \sum_{n=2}^{\infty} \Psi_{n,m}(\zeta, \mu) d_n s^n, \quad (1.7)$$

where

$$\Psi_{n,m}(\zeta, \mu) = \frac{\Gamma(n+1)\Gamma(2-\zeta)}{\Gamma(n+1-\zeta)} [1 + \mu(n-1)]^m. \quad (1.8)$$

Now, by using fractional differential operator  $D_{\mu}^{m,\zeta} k(s)$ , we define the following:

**Definition (1.1):** A function  $k(s)$  in  $\mathcal{M}$  belongs to the class  $\mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  if and only if it fulfilled the condition:

$$\left| \frac{\delta s^2 (D_{\mu}^{m,\zeta} k(s))''' + (1-\lambda)s (D_{\mu}^{m,\zeta} k(s))'' + \lambda (D_{\mu}^{m,\zeta} k(s))'}{(2\gamma-1)s (D_{\mu}^{m,\zeta} k(s))'' + 2\gamma(1-\alpha) (D_{\mu}^{m,\zeta} k(s))'} \right| < \eta,$$

where  $s \in \mathbb{U}, \mu \geq 0, 0 \leq \zeta < 1, m \in \mathbb{N}_0, 0 \leq \alpha < 1, 0 \leq \lambda < 1, 0 \leq \delta < 1, \frac{1}{2} < \gamma \leq 1$  and  $0 < \eta \leq 1$ .

**Remark (1.1):** When  $\zeta = 0$  and  $m = 0$ , the following distinct subclasses have been examined by different authors.

- 1) For  $\lambda = 0, \delta = 0$  the class  $\mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  reduce to the subclass  $\mathcal{C}(\alpha, \beta, \gamma)$  introduced and studied by Joshi and Shelake [4].
- 2) For  $\lambda = 0, \delta = 0, \gamma = 1$ , and  $\eta = 1$ , the class  $\mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  reduce to the subclass  $\mathcal{C}(\alpha)$  introduced and studied by Silverman [10].

The features listed below were examined for different classes in [1, 3, 8, 12, 13, 14].

## 2. Coefficient Estimate

A necessary and sufficient condition for a function to belong to the class  $\mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  is obtained in the following theorem.

**Theorem (2.1):** Suppose that the function  $k$  be defined based on (1.2). Then  $k \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  if and only if

$$\sum_{n=2}^{\infty} n [\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)] \Psi_{n,m}(\zeta, \mu) d_n \leq 2\gamma\eta(1 - \alpha) + \lambda, \quad (2.1)$$

where  $s \in \mathbb{U}, \mu \geq 0, 0 \leq \zeta < 1, m \in \mathbb{N}_0, 0 \leq \alpha < 1, 0 \leq \lambda < 1, 0 \leq \delta < 1, \frac{1}{2} < \gamma \leq 1$  and  $0 < \eta \leq 1$ .

Then result (2.1) is sharp for the function

$$k(s) = s - \frac{2\gamma\eta(1-\alpha) + \lambda}{n[\delta(n^2 - 3n + 2) + n(1-\lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)} s^n, \quad n \geq 2. \quad (2.2)$$

**Proof:** Suppose that  $|s| = 1$  and the inequality (2.1) is valid. Next, we obtain

$$\begin{aligned} & \left| \delta s^2 \left( D_{\mu}^{m,\zeta} k(s) \right)^{''''} + (1-\lambda)s \left( D_{\mu}^{m,\zeta} k(s) \right)^{'''} + \lambda \left( D_{\mu}^{m,\zeta} k(s) \right)' \right| \\ & - \eta \left| (2\gamma - 1)s \left( D_{\mu}^{m,\zeta} k(s) \right)^{'''} + 2\gamma(1-\alpha) \left( D_{\mu}^{m,\zeta} k(s) \right)' \right| \\ & = \left| -\delta \sum_{n=2}^{\infty} n(n-1)(n-2)\Psi_{n,m}(\zeta, \mu) d_n s^{n-1} - (1-\lambda) \sum_{n=2}^{\infty} n(n-1)\Psi_{n,m}(\zeta, \mu) d_n s^{n-1} + \lambda \right. \\ & \quad \left. - \lambda \sum_{n=2}^{\infty} n \Psi_{n,m}(\zeta, \mu) d_n s^{n-1} \right| \\ & - \eta \left| -(2\gamma - 1) \sum_{n=2}^{\infty} n(n-1)\Psi_{n,m}(\zeta, \mu) d_n s^{n-1} + 2\gamma(1-\alpha) - 2\gamma(1-\alpha) \sum_{n=2}^{\infty} n \Psi_{n,m}(\zeta, \mu) d_n s^{n-1} \right| \\ & \leq \sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1-\lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu) d_n - 2\gamma\eta(1-\alpha) - \lambda \leq 0 \end{aligned}$$

Hence, by maximum modulus principle,  $k \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ . Now, assume that  $k \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  so that

$$\left| \frac{\delta s^2 \left( D_{\mu}^{m,\zeta} k(s) \right)^{''''} + (1-\lambda)s \left( D_{\mu}^{m,\zeta} k(s) \right)^{'''} + \lambda \left( D_{\mu}^{m,\zeta} k(s) \right)'}{(2\gamma - 1)s \left( D_{\mu}^{m,\zeta} k(s) \right)^{'''} + 2\gamma(1-\alpha) \left( D_{\mu}^{m,\zeta} k(s) \right)'} \right| < \eta, \quad s \in \mathbb{U}.$$

Hence

$$\begin{aligned} & \left| \delta s^2 \left( D_{\mu}^{m,\zeta} k(s) \right)^{''''} + (1-\lambda)s \left( D_{\mu}^{m,\zeta} k(s) \right)^{'''} + \lambda \left( D_{\mu}^{m,\zeta} k(s) \right)' \right| \\ & < \eta \left| (2\gamma - 1)s \left( D_{\mu}^{m,\zeta} k(s) \right)^{'''} + 2\gamma(1-\alpha) \left( D_{\mu}^{m,\zeta} k(s) \right)' \right|. \end{aligned}$$

Therefore, we get

$$\begin{aligned} & \left| -\delta \sum_{n=2}^{\infty} n(n-1)(n-2)\Psi_{n,m}(\zeta, \mu) d_n s^{n-1} - (1-\lambda) \sum_{n=2}^{\infty} n(n-1)\Psi_{n,m}(\zeta, \mu) d_n s^{n-1} + \lambda \right. \\ & \quad \left. - \lambda \sum_{n=2}^{\infty} n \phi^m(n, b, t, u) d_n s^{n-1} \right| \\ & < \eta \left| -(2\gamma - 1) \sum_{n=2}^{\infty} n(n-1)\Psi_{n,m}(\zeta, \mu) d_n s^{n-1} + 2\gamma(1-\alpha) - 2\gamma(1-\alpha) \sum_{n=2}^{\infty} n \Psi_{n,m}(\zeta, \mu) d_n s^{n-1} \right|. \end{aligned}$$

Thus

$$\sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1-\lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu) d_n \leq 2\gamma\eta(1-\alpha) + \lambda,$$

and the proof is finished.

**Corollary (2.1):** Suppose that the function  $k \in \mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ . Then

$$d_n \leq \frac{2\gamma\eta(1-\alpha) + \lambda}{n[\delta(n^2 - 3n + 2) + n(1-\lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)} s^n, \quad n \geq 2.$$

### 3. Growth and Distortion Theorems

**Theorem (3.1):** Suppose that  $k$  a holomorphic function specified based on (1.2) is in the class  $\mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ , then for  $0 < |s| = r < 1$

$$r - \frac{2\gamma\eta(1-\alpha) + \lambda}{2[2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu)} r^2 \leq |k(s)| \leq r + \frac{2\gamma\eta(1-\alpha) + \lambda}{2[2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu)} r^2.$$

The bounds are sharp, because the equality are reached based on the function

$$k(s) = s - \frac{2\gamma\eta(1-\alpha) + \lambda}{2[2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu)} s^2. \quad (3.1)$$

**Proof:** Considering Theorem (2.1), we possess

$$\sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1-\lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)d_n \leq 2\gamma\eta(1-\alpha) + \lambda,$$

and

$$\begin{aligned} & 2[2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu) \sum_{n=2}^{\infty} d_n \\ & \leq \sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1-\lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)d_n \leq 2\gamma\eta(1-\alpha) + \lambda. \end{aligned}$$

Therefore, we have

$$\sum_{n=2}^{\infty} d_n \leq \frac{2\gamma\eta(1-\alpha) + \lambda}{2[2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu)}.$$

Thus, for  $k \in \mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ , we obtain

$$|k(s)| = \left| s - \sum_{n=2}^{\infty} d_n s^n \right| \leq |s| + |s|^2 \sum_{n=2}^{\infty} d_n \leq r + \frac{2\gamma\eta(1-\alpha) + \lambda}{2[2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu)} r^2.$$

The following is a proof for the other claim

$$|k(s)| = \left| s - \sum_{n=2}^{\infty} d_n s^n \right| \geq |s| - |s|^2 \sum_{n=2}^{\infty} d_n \geq r - \frac{2\gamma\eta(1-\alpha) + \lambda}{2[2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu)} r^2.$$

as far as the proof is finished.

Likewise, by using the same approach as in Theorem (3.1), we may demonstrate the following

**Theorem (3.2):** Suppose that  $k$  a holomorphic function specified based on (1.2) is in the class  $\mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ , then for  $0 < |s| = r < 1$

$$1 - \frac{2\gamma\eta(1-\alpha) + \lambda}{2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)\Psi_{2,m}(\zeta, \mu)} r \leq |k(s)'| \leq 1 + \frac{2\gamma\eta(1-\alpha) + \lambda}{2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)\Psi_{2,m}(\zeta, \mu)} r.$$

The bounds are sharp for the function  $k(s)$  is specified based on (3.1).

**Proof:** For  $k \in \mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ , we have

$$|k(s)'| = \left| 1 - \sum_{n=2}^{\infty} n d_n s^{n-1} \right| \leq 1 + |s| \sum_{n=2}^{\infty} n d_n \leq 1 + \frac{2\gamma\eta(1-\alpha) + \lambda}{2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)\Psi_{2,m}(\zeta, \mu)} r.$$

On the other hand

$$|k(s)'| = \left| 1 - \sum_{n=2}^{\infty} n d_n s^{n-1} \right| \geq 1 - |s| \sum_{n=2}^{\infty} n d_n \geq 1 - \frac{2\gamma\eta(1-\alpha) + \lambda}{2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)\Psi_{2,m}(\zeta, \mu)} r.$$

and the proof is finished.

#### 4. Radii of Starlikeness, Convexity and Close-to-convexity

The radii of starlikeness, convexity, and close-to-convexity for the class  $\mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  are obtained in the following theorems.

**Theorem (4.1):** Suppose that  $k \in \mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ . Then  $k$  is starlike in  $|s| < R_1$  of order  $\rho$ ,  $0 \leq \rho < 1$ , wherever

$$R_1 = \inf_n \left\{ \frac{(1-\rho)n[\delta(n^2 - 3n + 2) + n(1-\lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)}{(n-\rho)(2\gamma\eta(1-\alpha) + \lambda)} \right\}^{\frac{1}{n-1}}, \quad n \geq 2 \quad (4.1)$$

The result is sharp to the function  $k(s)$  specified by (2.2).

**Proof:**  $k$  is starlike of order  $\rho$ ,  $0 \leq \rho < 1$  if

$$\operatorname{Re} \left( \frac{sk'(s)}{k(s)} \right) > \rho.$$

Therefore, it suffices to demonstrate that

$$\left| \frac{sk'(s)}{k(s)} - 1 \right| = \left| \frac{-\sum_{n=2}^{\infty} (n-1) d_n s^{n-1}}{1 - \sum_{n=2}^{\infty} d_n s^{n-1}} \right| \leq \frac{\sum_{n=2}^{\infty} (n-1) d_n |s|^{n-1}}{1 - \sum_{n=2}^{\infty} d_n |s|^{n-1}}.$$

Thus,

$$\left| \frac{sk'(s)}{k(s)} - 1 \right| \leq 1 - \rho \quad \text{if} \quad \sum_{n=2}^{\infty} \frac{(n-\rho)}{(1-\rho)} d_n |s|^{n-1} \leq 1. \quad (4.2)$$

Hence, by Theorem (2.1), (4.2) is accurate if

$$\frac{(n-\rho)}{(1-\rho)}|s|^{n-1} \leq \frac{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{2\gamma\eta(1-\alpha)+\lambda}$$

or if

$$|s| = \left[ \frac{(1-\rho)n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{(n-\rho)(2\gamma\eta(1-\alpha)+\lambda)} \right]^{\frac{1}{n-1}}, \quad n \geq 2. \quad (4.3)$$

From (4.3), the theorem is readily inferred.

**Theorem (4.2):** Suppose that  $k \in \mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ . Then  $k$  is convex in  $|s| < R_2$  of order  $\rho$ ,  $0 \leq \rho < 1$ , wherever

$$R_2 = \inf_n \left\{ \frac{(1-\rho)[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{(n-\rho)(2\gamma\eta(1-\alpha)+\lambda)} \right\}^{\frac{1}{n-1}}, \quad n \geq 2. \quad (4.4)$$

The result is sharp to the function  $k(s)$  specified by (2.2).

**Proof:**  $k$  is convex of order  $\rho$ ,  $0 \leq \rho < 1$  if

$$\operatorname{Re} \left( 1 + \frac{sk''(s)}{k'(s)} \right) > \rho.$$

Therefore, it suffices to demonstrate that

$$\left| \frac{sk''(s)}{k'(s)} \right| = \left| \frac{-\sum_{n=2}^{\infty} n(n-1)d_n s^{n-1}}{1 - \sum_{n=2}^{\infty} nd_n s^{n-1}} \right| \leq \frac{\sum_{n=2}^{\infty} n(n-1)d_n |s|^{n-1}}{1 - \sum_{n=2}^{\infty} nd_n |s|^{n-1}}.$$

Thus,

$$\left| \frac{sk''(s)}{k'(s)} \right| \leq 1 - \rho \quad \text{if} \quad \sum_{n=2}^{\infty} \frac{n(n-\rho)}{(1-\rho)} d_n |s|^{n-1} \leq 1. \quad (4.5)$$

Hence, by Theorem (2.1), (4.5) is accurate if

$$\frac{n(n-\rho)}{(1-\rho)}|s|^{n-1} \leq \frac{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{2\gamma\eta(1-\alpha)+\lambda}$$

or if

$$|s| \leq \left[ \frac{(1-\rho)[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{(n-\rho)(2\gamma\eta(1-\alpha)+\lambda)} \right]^{\frac{1}{n-1}}, \quad n \geq 2. \quad (4.6)$$

From (4.6), the theorem is readily inferred.

**Theorem (4.3):** Suppose that  $k \in \mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ . Then  $k$  is close-to-convex in  $|s| < R_3$  of order  $\rho$ ,  $0 \leq \rho < 1$ , wherever

$$R_3 = \inf_n \left\{ \frac{(1-\rho)[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{(2\gamma\eta(1-\alpha)+\lambda)} \right\}^{\frac{1}{n-1}}, \quad n \geq 2. \quad (4.7)$$

The result is sharp to the function  $k(s)$  specified by (2.2).

**Proof:**  $k$  is close-to-convex of order  $\rho$ ,  $0 \leq \rho < 1$  if

$$Re(k'(s)) > \rho.$$

Therefore, it suffices to demonstrate that

$$|k'(s) - 1| = \left| - \sum_{n=2}^{\infty} n d_n s^{n-1} \right| \leq \sum_{n=2}^{\infty} n d_n |s|^{n-1}.$$

Thus,

$$|k'(s) - 1| \leq 1 - \rho \quad \text{if} \quad \sum_{n=2}^{\infty} \frac{n}{(1-\rho)} d_n |s|^{n-1} \leq 1. \quad (4.8)$$

Hence, by Theorem (2.1), (4.8) is accurate if

$$\frac{n}{(1-\rho)} |s|^{n-1} \leq \frac{n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha)}$$

or if

$$|s| \leq \left[ \frac{(1 - \rho)[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)}{(2\gamma\eta(1 - \alpha) + \lambda)} \right]^{\frac{1}{n-1}}, \quad n \geq 2. \quad (4.9)$$

From (4.9), the theorem is readily inferred.

## 5. Closure Theorem

**Theorem (5.1):** Suppose that the function  $k_i$  specified by

$$k_i(s) = s - \sum_{n=2}^{\infty} d_{n,i} s^n \quad (d_{n,i} \geq 0, n \geq 2, i = 1, 2, \dots, t), \quad (5.1)$$

belongs to the class  $\mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  for each  $i = 1, 2, \dots, t$ .

Then, the function  $f_1$  that is specified based on

$$f_1(s) = s - \sum_{n=2}^{\infty} e_n s^n, \quad (e_n \geq 0, n \geq 2),$$

also be in the class  $\mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  wherever

$$e_n = \frac{1}{t} \sum_{i=1}^t d_{n,i}, \quad (n \geq 2).$$

**Proof:** Since  $k_i \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ , consequently Theorem (2.1) states that

$$\sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)d_{n,i} \leq 2\gamma\eta(1 - \alpha) + \lambda,$$

for every  $i = 1, 2, \dots, t$ . Hence

$$\begin{aligned} & \sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)e_n \\ &= \sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)\left(\frac{1}{t}\sum_{i=1}^t d_{n,i}\right) \\ &= \frac{1}{t}\sum_{i=1}^t \left(\sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)d_{n,i}\right) \\ &\leq 2\gamma\eta(1 - \alpha) + \lambda. \end{aligned}$$

By Theorem (2.1), it follows that  $f_1 \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ .

**Theorem (5.2):** Suppose that the function  $k_i$  defined based on (5.1) belong to the class  $\mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  for each  $i = 1, 2, \dots, t$ . Then the function  $f_2$  specified based on

$$f_2(s) = \sum_{i=1}^t c_i k_i(s)$$

Belongs to the class  $\mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  wherever

$$\sum_{i=1}^t c_i = 1, \quad (c_i \geq 0).$$

**Proof:** Based on Theorem (2.1) for each  $i = 1, 2, \dots, t$ , we obtain

$$\sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)d_{n,i} \leq 2\gamma\eta(1 - \alpha) + \lambda.$$

But

$$f_2(s) = \sum_{i=1}^t c_i k_i(s) = \sum_{i=1}^t c_i \left( s - \sum_{n=2}^{\infty} d_{n,i} s^n \right) = s - \sum_{n=2}^{\infty} \left( \sum_{i=1}^t c_i d_{n,i} \right) s^n.$$

Therefore

$$\begin{aligned} & \sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)\left(\sum_{i=1}^t c_i d_{n,i}\right) \\ &= \sum_{i=1}^t c_i \left( \sum_{n=2}^{\infty} n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)d_{n,i} \right) \end{aligned}$$

$$\leq \sum_{i=1}^t c_i (2\gamma\eta(1-\alpha) + \lambda) = 2\gamma\eta(1-\alpha) + \lambda$$

and the proof is complete.

## 6. Convolution Properties

**Theorem (6.1):** Let the function  $k_j$  ( $j = 1, 2$ ) defined by

$$k_j(s) = s - \sum_{n=2}^{\infty} d_{n,j} s^n, \quad (d_{n,j} \geq 0, j = 1, 2), \quad (6.1)$$

which is in the class  $\mathcal{NH}_{\mu}^{m, \zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ . Then  $k_1 * k_2 \in \mathcal{NH}_{\mu}^{m, \zeta}(\beta, \lambda, \alpha, \eta, \gamma)$ , where

$$\beta \leq \frac{n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]^2 \Psi_{n,m}(\zeta, \mu)}{(2\gamma\eta(1 - \alpha) + \lambda)(n^2 - 3n + 2)}.$$

**Proof:** We need to determine the biggest  $\beta$  such that

$$\sum_{n=2}^{\infty} \frac{n[\beta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)] \Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha) + \lambda} d_{n,1} d_{n,2} \leq 1.$$

Since  $k_j \in \mathcal{NH}_{\mu}^{m, \zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  ( $j = 1, 2$ ), then

$$\sum_{n=2}^{\infty} \frac{n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)] \Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha) + \lambda} d_{n,j} \leq 1 \quad (j = 1, 2). \quad (6.2)$$

By Cauchy-Schwarz inequality, we have

$$\sum_{n=2}^{\infty} \frac{n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)] \Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha) + \lambda} \sqrt{d_{n,1} d_{n,2}} \leq 1. \quad (6.3)$$

So, we only show that

$$\begin{aligned} & \frac{n[\beta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)] \Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha) + \lambda} d_{n,1} d_{n,2} \leq \\ & \frac{n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)] \Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha) + \lambda} \sqrt{d_{n,1} d_{n,2}}. \end{aligned}$$

That is equivalent to

$$\sqrt{d_{n,1} d_{n,2}} \leq \frac{\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)}{\beta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)}.$$

From (6.3), we have

$$\sqrt{d_{n,1}d_{n,2}} \leq \frac{2\gamma\eta(1-\alpha)+\lambda}{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}.$$

which is sufficient to prove that

$$\frac{2\gamma\eta(1-\alpha)+\lambda}{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)} \leq \frac{\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)}{\beta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)},$$

That implies to

$$\beta \leq \frac{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]^2\Psi_{n,m}(\zeta,\mu)}{-(2\gamma\eta(1-\alpha)+\lambda)(n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1))}.$$

**Theorem (6.2):** Let the function  $k_j$  ( $j = 1, 2$ ) that is defined in (6.1) belongs to the class  $\mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ . Then the function  $h$  defined based on

$$h(s) = s - \sum_{n=2}^{\infty} (d_{n,1}^2 + d_{n,2}^2) s^n, \quad (6.4)$$

be in the class  $\mathcal{NH}_\mu^{m,\zeta}(\varepsilon, \lambda, \alpha, \eta, \gamma)$  wherever

$$\varepsilon \leq \frac{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]^2\Psi_{n,m}(\zeta,\mu)}{-2(2\gamma\eta(1-\alpha)+\lambda)(n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1))}.$$

**Proof:** We need to determine the biggest  $\varepsilon$  such that

$$\sum_{n=2}^{\infty} \frac{n[\varepsilon(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{2\gamma\eta(1-\alpha)+\lambda} (d_{n,1}^2 + d_{n,2}^2) \leq 1,$$

since  $k_j \in \mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  ( $j = 1, 2$ ), we get

$$\begin{aligned} & \sum_{n=2}^{\infty} \left( \frac{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{2\gamma\eta(1-\alpha)+\lambda} \right)^2 d_{n,1}^2 \\ & \leq \sum_{n=2}^{\infty} \left( \frac{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{2\gamma\eta(1-\alpha)+\lambda} d_{n,1} \right)^2 \leq 1 \end{aligned} \quad (6.5)$$

and

$$\begin{aligned} & \sum_{n=2}^{\infty} \left( \frac{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{2\gamma\eta(1-\alpha)+\lambda} \right)^2 d_{n,2}^2 \\ & \leq \sum_{n=2}^{\infty} \left( \frac{n[\delta(n^2-3n+2)+n(1-\lambda)-1+\eta(2\gamma n-2\gamma\alpha-n+1)]\Psi_{n,m}(\zeta,\mu)}{2\gamma\eta(1-\alpha)+\lambda} d_{n,2} \right)^2 \leq 1. \end{aligned} \quad (6.6)$$

Annexation of the inequalities (6.5) and (6.6) gives

$$\sum_{n=2}^{\infty} \frac{1}{2} \left( \frac{n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha) + \lambda} \right)^2 (d_{n,1}^2 + d_{n,2}^2) \leq 1. \quad (6.7)$$

But  $h \in \mathcal{NH}_{\mu}^{m,\zeta}(\varepsilon, \lambda, \alpha, \eta, \gamma)$  if and only if

$$\sum_{n=2}^{\infty} \frac{n[\varepsilon(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha) + \lambda} (d_{n,1}^2 + d_{n,2}^2) \leq 1 \quad (6.8)$$

The inequality (6.8) will be satisfied if

$$\begin{aligned} \frac{n[\varepsilon(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha) + \lambda} &\leq \\ \frac{n^2 ([\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu))^2}{2(2\gamma\eta(1 - \alpha) + \lambda)^2}. \end{aligned}$$

So that

$$\varepsilon \leq \frac{n ([\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu))^2}{2(2\gamma\eta(1 - \alpha) + \lambda)(n^2 - 3n + 2)}.$$

## 7. Neighborhood Property and Partial sums

In accordance with the previous studies conducted by Goodman [2] and Ruscheweyh [9], we determine the  $\sigma$  –neighborhood of function  $k(s) \in \mathcal{M}$  based on

$$N_{\sigma}(k) = \left\{ g \in \mathcal{M} : g(s) = s - \sum_{n=2}^{\infty} b_n s^n \text{ and } \sum_{n=2}^{\infty} n|d_n - b_n| \leq \sigma \right\}. \quad (7.1)$$

In particular, for identity function  $e(s) = s$ , we immediately have

$$N_{\sigma}(e) = \left\{ g \in \mathcal{M} : g(s) = s - \sum_{n=2}^{\infty} b_n s^n \text{ and } \sum_{n=2}^{\infty} n|b_n| \leq \sigma \right\} \quad (7.2)$$

**Definition (7.1):** A function  $k(s) \in \mathcal{M}$  is said to be in the class  $\mathcal{NH}_{\mu,y}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  if there exists a function  $g(s) \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ , such that

$$\left| \frac{k(s)}{g(s)} - 1 \right| < 1 - y \quad (s \in \mathbb{U}, 0 \leq y < 1).$$

**Theorem (7.1):** If  $g(s) \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  and

$$y = 1 - \frac{\sigma ([2(1 - \lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu))}{2 [([2(1 - \lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu) - 2\gamma\eta(1 - \alpha) + \lambda)], \quad (7.3)$$

Then  $N_\sigma(g) \subset \mathcal{NH}_{\mu,y}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ .

**Proof:** Let  $k(s) \in N_\sigma(g)$ . Then we get from (7.1) that

$$\sum_{n=2}^{\infty} n|d_n - b_n| \leq \sigma,$$

which readily implies the coefficient inequality

$$\sum_{n=2}^{\infty} |d_n - b_n| \leq \frac{\sigma}{2}.$$

Also, since  $g(s) \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ , we get from Theorem (2.1)

$$\sum_{n=2}^{\infty} b_n \leq \frac{2\gamma\eta(1-\alpha) + \lambda}{2[2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu)}.$$

So that

$$\begin{aligned} \left| \frac{k(s)}{g(s)} - 1 \right| &\leq \frac{\sum_{n=2}^{\infty} |d_n - b_n|}{1 - \sum_{n=2}^{\infty} b_n} \\ &\leq \frac{\sigma \left( [2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu) \right)}{2 \left[ [2(1-\lambda) - 1 + \eta(4\gamma - 2\gamma\alpha - 1)]\Psi_{2,m}(\zeta, \mu) - 2\gamma\eta(1-\alpha) + \lambda \right]} = 1 - y. \end{aligned}$$

Thus by Definition (7.1),  $k(s) \in \mathcal{NH}_{\mu,y}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  for  $y$  given by (7.3).

The ratio of the function of type (1.2) to its series of partial sums will be examined in this section specified by  $k_1(s) = s$  and  $k_l(s) = s - \sum_{n=2}^l d_n s^n$  when the coefficients of  $k$  are sufficiently small to fulfill the condition (2.1). We will determine sharp lower bounds to

$$Re \left( \frac{k(s)}{k_l(s)} \right), \quad Re \left( \frac{k_l(s)}{k(s)} \right), \quad Re \left( \frac{k'(s)}{k'_l(s)} \right) \quad \text{and} \quad Re \left( \frac{k'_l(s)}{k'(s)} \right).$$

What follows, we'll employ the widely acknowledged outcome that

$$Re \left( \frac{1 - T(s)}{1 + T(s)} \right) > 0, \quad s \in \mathbb{U},$$

if and only if

$$T(s) = \sum_{n=1}^{\infty} b_n s^n$$

satisfies the inequality  $|T(s)| \leq |s|$ .

**Theorem (7.2):** If  $k(s) \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ , then

$$Re \left( \frac{k(s)}{k_l(s)} \right) \geq 1 - \frac{1}{b_{l+1}} \quad (l \in \mathbb{N}, s \in \mathbb{U}) \quad (7.4)$$

and

$$Re\left(\frac{k_l(s)}{k(s)}\right) \geq \frac{b_{l+1}}{1 + b_{l+1}} \quad (l \in \mathbb{N}, s \in \mathbb{U}), \quad (7.5)$$

where

$$\left( b_n = \frac{n[\delta(n^2 - 3n + 2) + n(1 - \lambda) - 1 + \eta(2\gamma n - 2\gamma\alpha - n + 1)]\Psi_{n,m}(\zeta, \mu)}{2\gamma\eta(1 - \alpha) + \lambda} \right).$$

Estimated values in (7.4) and (7.5) are sharp.

**Proof:** We apply the same strategy that Silverman [11] used. The function  $k(s) \in \mathcal{NH}_\mu^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$  if and only if

$$\sum_{n=2}^{\infty} b_n d_n \leq 1.$$

It is simple to confirm that  $b_{l+1} > b_l > 1$ . Consequently,

$$\sum_{n=2}^l d_n + b_{l+1} \sum_{n=l+1}^{\infty} d_n \leq \sum_{n=2}^{\infty} b_n d_n \leq 1. \quad (7.6)$$

We could write

$$b_{l+1} \left\{ \frac{k(s)}{k_l(s)} - \left( 1 - \frac{1}{b_{l+1}} \right) \right\} = \frac{1 - \sum_{n=2}^l d_n s^{n-1} - b_{l+1} \sum_{n=l+1}^{\infty} d_n s^{n-1}}{1 - \sum_{n=2}^l d_n s^{n-1}} = \frac{1 + D(s)}{1 + F(s)}.$$

Set

$$\frac{1 + D(s)}{1 + F(s)} = \frac{1 - T(s)}{1 + T(s)},$$

so that

$$T(s) = \frac{F(s) - D(s)}{2 + D(s) + F(s)}.$$

Then

$$T(s) = \frac{b_{l+1} \sum_{n=l+1}^{\infty} d_n s^{n-1}}{2 - 2 \sum_{n=2}^l d_n s^{n-1} - b_{l+1} \sum_{n=l+1}^{\infty} d_n s^{n-1}}$$

and

$$|T(s)| \leq \frac{b_{l+1} \sum_{n=l+1}^{\infty} d_n}{2 - 2 \sum_{n=2}^l d_n - b_{l+1} \sum_{n=l+1}^{\infty} d_n}.$$

Now  $|T(s)| \leq 1$  if and only if

$$\sum_{n=2}^l d_n + b_{l+1} \sum_{n=l+1}^{\infty} d_n \leq 1.$$

Support for it comes from (7.6). This makes the assertion (7.4) of theorem (7.2) simple. Seeing that

$$k(s) = s - \frac{s^{l+1}}{b_{l+1}} \quad (7.7)$$

gives sharp results, we observe that

$$\frac{k(s)}{k_l(s)} = 1 - \frac{s^l}{b_{l+1}}.$$

Letting  $s \rightarrow 1^-$ , we have

$$\frac{k(s)}{k_l(s)} = 1 - \frac{1}{b_{l+1}}.$$

It demonstrates that for any  $l \in \mathbb{N}$ , the bounds in (7.4) are the best available

$$(1 + b_{l+1}) \left( \frac{k_l(s)}{k(s)} - \frac{b_{l+1}}{1 + b_{l+1}} \right) = \frac{1 - \sum_{n=2}^l d_n s^{n-1} + b_{l+1} \sum_{n=l+1}^{\infty} d_n s^{n-1}}{1 - \sum_{n=2}^l d_n s^{n-1}} = \frac{1 - T(s)}{1 + T(s)},$$

where

$$|T(s)| \leq \frac{(1 + b_{l+1}) \sum_{n=l+1}^{\infty} d_n}{2 - 2 \sum_{n=2}^l d_n + (1 - b_{l+1}) \sum_{n=l+1}^{\infty} d_n}.$$

Now  $|T(s)| \leq 1$  if and only if

$$\sum_{n=2}^l d_n + b_{l+1} \sum_{n=l+1}^{\infty} d_n \leq 1.$$

It has the backing of (7.6). As a direct conclusion, Theorem (7.2) yields the claim (7.5). The extremal function  $k(s)$  given by (7.7) is sharply estimated in (7.5). This completes the proof of theorem (7.2).

We now discuss the ratios including derivatives. Theorem (7.3) is proved in the manner described in Theorem (7.2), and thus the details may be left out.

**Theorem (7.3):** If  $k(s) \in \mathcal{NH}_{\mu}^{m,\zeta}(\delta, \lambda, \alpha, \eta, \gamma)$ , then

$$\operatorname{Re} \left( \frac{k'(s)}{k_l'(s)} \right) \geq 1 - \frac{1 + l}{b_{l+1}} \quad (l \in \mathbb{N}, s \in \mathbb{U}), \quad (7.8)$$

and

$$\operatorname{Re} \left( \frac{k_l'(s)}{k'(s)} \right) \geq \frac{b_{l+1}}{1 + l + b_{l+1}} \quad (l \in \mathbb{N}, s \in \mathbb{U}). \quad (7.9)$$

Along with the extremal function described by (7.7), the estimations in (7.8) and (7.9) are sharp.

## References

---

[1] W. G. Atshan and N. A. J. Al-Ziadi, A new subclass of harmonic univalent functions, J. Al-Qadisiyah Comput. Sci. Math. 9(2) (2017), 26-32.  
[2] W. Goodman, Univalent functions and analytic curves, Proc. Amer. Math. Soc., 8(3)(1957), 598-601.

- [3] I. A. Hasoon and N. A. J. Al-Ziadi, A New Class of Univalent Functions Defined by Differential Operator, *Earthline Journal of Mathematical Sciences*, 14(5)(2024), 1141-1157.
- [4] S. B. Joshi and G. D. Shelake, On a class of univalent functions with negative coefficients, *Journal of Natural and Physical Sciences*, 21(1–2)(2007), 67–78.
- [5] M. A. Mowafy, A. O. Mostafa and S. M. Madian, Properties for a class related to a new fractional differential operator, *Journal of Fractional Calculus and Applications*, 14(1), (2023), 182–190.
- [6] S. Owa, On the distortion theorems, *Kyungpook Math. J.*, 18(1978), 53–59.
- [7] S. Owa and H. M. Srivastava, Univalent and starlike generalized hypergeometric functions, *Canad. J. Math.*, 39 (1987), 1057–1077.
- [8] A. M. Ramadhan and N. A. J. Al-Ziadi, New Class of Multivalent Functions with Negative Coefficients, *Earthline Journal of Mathematical Sciences*, 10(2)(2022), 271-288.
- [9] S. Ruscheweyh, Neighborhoods of univalent functions, *Proc. Amer. Math. Soc.*, 81(4)(1981), 521-527.
- [10] H. Silverman, Univalent function with negative coefficients, *Proc. Amer. Math. Soc.*, 51(1975): 109-116.
- [11] H. Silverman, Partial sums of starlike and convex functions, *J. Math. Anal.Appl.*, 209(1997), 221-227.
- [12] B. Venkateswarlu, P. T. Reddy, A. Lagad and R. Ingle, On a certain subclass of analytic functions defined by differential operator, *Electronic Journal of Mathematical Analysis and Applications*, 13(1)(2025), No. 9.
- [13] A. K. Wanas and H. K. Radhi, A certain subclass of multivalent functions associated with Borel distribution series, *Earthline Journal of Mathematical Sciences*, 10(2)(2022), 341-353.
- [14] J. Yamini, Certain subclasses of convex and starlike functions with negative coefficients. *International Journal of Science and Research*, 11(7) (2022), 1188-1191.